Stock and Bond Valuation Problems

Bond Valuation:

1.  You have been hired by an investor to evaluate a restructuring plan at Tyco as it attempts to emerge out of bankruptcy.  The company is trying to work out a deal with its creditors to restructure its bonds.  Tyco’s bonds carry a 10% annual coupon, have a $1,000 face value, and have four years remaining until maturity.  Because Tyco is having cash flow problems it is trying to get bondholders to accept the following deal.  The firm would like to make the next three coupon payments of half the scheduled amount, and then make a final payment of the remaining coupons plus principal.  If this plan is implemented, what would be the market price of the bonds?  Assume bonds of similar risk have a yield of 15%.

2.  You are an investment banker and have been approached by two large pension funds who want to make an investment in Intel Corporation’s bonds.  However, they want different cash flows than an Intel bond would deliver if purchased in the market.  Pension Fund A wants the coupon payments but NOT the principal payment and it would like to receive these payments over the next ten years.  On the other hand, Pension Fund B wants to receive only the principal payment that will occur at the end of 10 years but is not interested in the coupon.  Unfortunately, Intel doesn’t issue these two types of bonds.  However, Intel currently has a 10-year coupon bond with a face value of $1,000, and a coupon rate of 6%.  Suppose the bonds are selling at par and coupons are paid yearly.  Can you come up with a way to deliver this investment opportunity?  How much would you charge Pension Fund A for access to only the coupon payments?  Pension Fund B who only wants the principal?  Forget about the transactions costs that might occur in delivering this product.  Now what if the current yield on similar bonds is 8%?
3. Assume that McDonald's and Burger King have similar $1,000 par value bond issues outstanding.  The bonds are equally risky.  The Burger King bond has a stated annual coupon of $80 and matures 20 years from today.  The McDonald's bond has stated annual coupon of $80 paid semiannually, and it also matures in 20 years.  If the nominal annual required rate of return is 12%, for both bonds, what is the difference in current market prices of the two bonds?

Equity Valuation:

4.  Your company has just signed an exclusive contract with Apple to build microprocessors that will go into the next generation of iPods.  Because of significant R&D investments the project is expected to generate negative cash flow of $3 milllion for the next 3 years (years 1 through 3).  By year four the company is expecting to generate positive revenues (i.e., cash flows) of $60 million.  Thereafter these cash flows are expected to grow at 6%?  What is the value of this investment opportunity if the cost of capital for this company is 18%?

5. A company’s current share price is $50, earnings per share next year is expected to be $3.00, and the discount rate for the firm is 15%.  What is the ratio of  this company’s present value of growth opportunities (NPVGO) to share price ?

6. The following is a list of companies, with prices, dividends per share and expected growth rates in dividends (from analyst projections) for each company: 

	Company
	Market Price
	Current DPS
	Growth Rate in DPS

	Merck
	$32.00
	$1.06
	15.0%

	Ogden Co.
	$25.00
	$1.25
	4.0%

	Honda
	$25.00
	$0.27
	10.0%


Estimate the cost of equity for each of these companies.

7. Consider the following firm.  Forecasted earnings per share are equal to 1. It can decide to pay more dividends by increasing its payout ratio from 40% to 60% or keep the payout ratio at 40% and finance investments with retained earnings.

a. What is the value of the firm in the two cases (payout ratios of 40% and 60%) if

ROE is equal to 17% and the discount rate = 14%?
b. Same question if ROE is equal to 10% and the discount rate = 14%.
c. Discuss the desirability of growth.

8. Picking comparable firms is not straightforward and often times require a judgment on what firms to use. Consider the following scenario. We want to value Rogers, a Canadian telecom. By looking at the company’s statements and the market we observe the following information

	 
	Bell
	Telus
	AT&T
	Verizon
	Rogers

	Price
	30.94
	39.51
	26.7
	29.5
	-

	Market Value (Billions)
	32.95
	18.92
	227.51
	136.08
	-

	
	
	
	
	
	

	EPS
	2.6
	2.92
	2.14
	0.26
	2.57

	EPS Forecast
	2.89
	3.18
	2.5
	2.3
	3.2

	EBITDA (billions)
	6.26
	7.43
	4.93
	7.66
	5.18

	Book value (billions)
	17.88
	23.38
	17.34
	13.79
	6.98

	Sales (billions)
	22.26
	28.42
	20.7
	37.82
	19.71


a. Without having an expert knowledge of the telecom sector we can think of two obvious candidates for comparables - Bell and Telus. Value Rogers’ equity based on the average P/E ratio of the two.

b. What would be your reservations to using AT&T and Verizon multiples for valuation?

c. Use the available data to value Rogers’ equity with other standard multiples.
